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MATH MATICS By Pradeep Sir
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Q. 1) Which of the following numbers is divisible by 9?
Tafefad # # #9-31 "err 9 3 faursy =
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(d) 47697
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MATHCMATICS

Q.2) 7.5 x 17.2+8.6+%of5 =?

S’
4 v N
e ""“"ia-éf'rxj;,; e
(c) 4 X6
() IS+ 35 - 11§
| 8-S-17-5
P ) Aw
P —
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—
A+R+ hxg 1
Jeo
A+p- AxX8
\o®

30"'30“' ?’ngc ‘1/.

E.

d0+30 - 3923P . 5.
19

)

Q. 3) Two successive increments of 30% each is by what

percentage more than two successive decrements of 30%

each? (Correct to two decimal places)

YA 30% PI al Bi® IS, TP 30% B I B HH
A fpa ufdwa aftre 22 (S sowee W=l 9@ 98h)
(a) 32.54% XN

(b) 28.15%)- 8
(c) 25.25% X —1 100

517 ,
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Q.4)A seller professes to sell his fruits at cost price but
still gains 5—% How much does he give for 1 kg?

wﬁmmwﬁmqmwaﬁmmm%
af 6T it 5% &1 @1 U FRATe | TF 1kg F TER

Ree B 3T d?
(a) 905 gm (b) 5 gm
(c) 900 gm (d) 950 gm
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Q. 5) A shopkeeper offers three schemes sas as

9 iven given below bel I icul
—_ | 0 ). given given below below to to sell a particular type
@ 19 °F P bo/ r of product.

Which of the following schemes offer (s) the

_i;( lop =) S0/ maximum discount $ercenta e

z L=1% gaaR PR & IAE H 3T &
' %% ngmaﬂﬁ&mmﬁg
| §xedy q S goHT ftedan ge ufawa
@ (8424 — WS HIat 82

| oo A. Buy 6, get 4 free / 6 @R114T, 4 U UT3Y

b B. Buy 5, get 5 free/ 5 m‘(’, 5 HUd UIST
“ R - "3 2 C. Two successive discounts of 18% and 24%/

—— X 18% 3M1X 24% P! & HHANTI Fe
(b) Only B and C / ¢ B3R C

(9 OnlyAandC/mAéh?C
(d) OnlyN%’d’dA
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Q. 6) A sum of money earns a simple interest at 7.25%
per annum for the first eight years, at 8.5% for the next

L YA -lS-'/;- S 8- six years, and at 6.5% for the final four years. If the total
interest earned during these eighteen years was Rs.

35100, what was the original sum invested (in Rs.)?

€x 8'Sy4a S frdt 4= wR ugd 3ms aul & forw 7.25% wfa ad, st
D: TU] & foIT 8.5% 31X SITIH IR T4l & (o€ 6.5% PI 2T A

freran qul Jfota
bx §-s0- X6 W%mei'%aa qﬁ’uﬁ?-{(?ﬁ)m

—== —
3 S d A (a) 25800 = 1300
X (b) 25500 3stoo <°

X (c) 26400 x Yoo
(d) 26000 33
X7
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Q. 7) If a:b::b:c and b = 96, then which of the
following can be a possible pair of values of a

a'b'' b:c and c?
J gfida:b::b:c3Mb 96% at Fafafea # 3
m—— aﬁq?m aah?cc%imq’fmwmnﬁagms’t
2. m%’ a, b , €

b = ax( Na)a-24 c=374 yoml
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Q. 8) The average weigh of 15 persons is increased by
1.2kg when one of them whose weight is 51 kg is

replaced by a new man. The weight of the new man is:
15 HT T R, T4 1.2 kg ¢ WTdT 8, 91d 30 &
$ Afad fTH®T U 51 kg 8, P! TP ¢ Afey F 9
AT 2 L S0 s &1 HR fhar 22

(b) 70 kg

S+ | & S\ e (-2

|ls — I-Ll&d‘l‘
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Q. 9) A and B can complete a piece of work in 12
days and 18 days, respectively. If they work at it
alternatively. A beginning, in how many days will

the work be finished ?
A 3B amfaﬁm 12%?3?!?13
Y Pd :
i e & :
(8)14;
X3 X3
TP 35
[
B
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"’5 10) In a factory, a piece of work is completed by

Raima in 15 days while joe can finish it in 10 days. The
— % factory manager has to complete the work as soon as
R> R Is P possible and so he orders joe and Raima to work
together. How many days will they take to complete the
> work?
34 210D U® bacdl § USHT TS B BT 15

Lem = 30 mafrgsmoﬁa’fﬁqg i, bk oL
a@ﬁ? e aﬁv;rg%ﬁwmmmﬁm

en%;mém%lmb 8 3% pad &= @
Rejz 2 @7 [@e] A==

A e
5 63 A Asxd - O 4
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7~ O~

Y- B~ I1SD

=
32 C = Q0D

Q.11) A, B and C can do a work in 10 days, 15
days and 20 days, respectively. They finished
that work together and got Rs. 2600 as wages.
Find C’'s wage.

A, B 3R C T B &I HAE 10 3, 15 =
3R 20 2T A T H% WP 21 ST 39 B B

— U@ 9y Wae @ fFar o augdt & U #
2 600 ¥ UTW fHU| ¢ 31 gored) F1d B
(a) Rs. 550
(c) Rs. 575 1) Rs. €
K00
_—
_--$3 - - 600
) 3 — E:o_:_ ) A .3)(6
\ B y—— L"oxl'

)\
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Q. 12) A man can finish a work in 10 days and
62A = 10> a women can finish it in 12 days. In how many
days will the work be finished by a man and a

woman, working together every day?

500 Q>
TS 33y {6t & @ 10 A1 4 ok v wfgan
39 12 fa= # 1 7 9t g1 ot gase 5 e

Arg= GO qey 3R TP Aigen ufafe v wry fraey om
A Y9 50 TH S0 1 S A A g9 v A
w110

(c) 31/10 (d) 30/11
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g RS Q. 13) A thief is chased by a policeman and
5 . distance between them is 3 km. The speed of
gy 2 — policeman is 75 km/h and the speed of the
(- C+) thief is 60 km/h. The policeman will be able to
catch the thief when the thief would have
D= 3Kkm covered the distance of km.
U IR $1 0P gﬁmmﬂ g1 WeT far orar 8
3R 37F da &1 g 3 km 8| YISl ot T1@
e D e ot T T e
kwmlh V4 dd Uh g U oid km
= cokmlh S TmwrmeeIm
a) 18
e
=1 (c) 15
(d) 10
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el

L -? ("'1*1'\,)(;3*:-3) (3(1- )

Q. 14) f x>0 and x‘+x—4—142 what is the value of

I

ua x
‘r‘-’ (r‘!) q‘f'ax>o3h'\’x‘+—=_i2.% ?ﬁx7+%ﬂﬁﬁﬂm

2-) = -
| (a) 156114 3.1
x3

1
=

x +
xt.,.:l(_" L (b) 1563V14 L_/
(c) 1560v14

1% iy -3%fiy

> [rva+2=1R ¥ i
(d) 1562v14 Y
= S 1242 = iy —_—
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Q. 15) fx+y+2z=4and x* + y* + z* = 12, then find
Xy + Yz +Xz.
ﬂﬁx+y+z‘i4a'ﬂTx2+y2+zz=12%,3"xy+yz+xz
&1 11 F1d DI |

(a) 4

(b) 6

(c)7

Cx +’+z_)z: 22.'_\4!.4.:_’- =} '2":(::\3 -l-a L Fax)

1 ¢

e ) -

= ' 4+ -l(xa+‘;+3-’f

Xy +yr+ax = 5._., =N q A
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By Pradeep Sir

5(a+la)~.n
+ L ~ W
"5 &

Q. 16) If (5y +2) = 11, find the value of (y* + &

y

uﬁ(5y+§) =118, @ (y? +§;)aﬂm=rmﬁ|

(]4’{‘- — Jz+

~—/

1.
J’i

21
(b) 1

21
(c) 3

)
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Q. 17) The following eUpression is equal to.

mﬁmmmmmml

Cot(Jo-5) + Cos( Jo-15") cotB5* + cos 75"

{ms’® + S 1S

(a) tan85° + sin 75° Y
(c¢) tan85° — sin 75°

Q
(b) tan 5° + sin 15°

(d) tan 5° — sin 15°)Q
/
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Q18) Ztan A — 2

1+tan’ A

Senag= tano

| 4+ &omco (a)cos2 A
(b) sinA
Ao = | -tom'o (c) cosA
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Q. 19) Find the value of sin(50 + 8) — cos(40 — 0)
sin(S_O?- 0) — coi(ll_(EQO) &1 HIH J1d S|
(a) 1/2

§o+7/ + ‘;-0-¢:_¢70' (b) -1 A~

A+ B =
'

k wA-(e$B8=0

o=

-)04“,

COOA~-5mB=O
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). 20) Suppose APQR and ASTU are congruent
triangles under ASA. If 2PQR =60° 2PRQ = 30° and
£STU = 60°, Find 2TSU.

A oo f& A PQR 3R A STU,ASA & dgd WalTaH
Prys 81 afd 2PQR = 60°, .PRQ = 30° 3R STU = 60° B,
0 |

0 &
(b) 75°
(c) 60°
(d) 60°
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- -
|~
Qo+ 5

Q. 21) Which of the following is a FALSE statement?
fafafEa 3 @ o9-91 $y= A 2
L—13) The circumcentre is the centre of a circle which
circumscribes the triangle. / TR®% 39 99 &1 &% &, &I
& ufva: FAififa gar 81 .
he angle formed by any side at the incentre is
alwag,_:o more than the angle at the opposite vertex. /

R et Wt Yo & |41 ﬁvﬁaaﬂéw
A T3 B 90° AP BT RI X

92_ (o) Incentre is poi point of concurren%of angle bisectors of

a triangle. é;{a ﬁ@ﬁ‘;ﬁl DIV FHIGHUTADIDI

(d) Centroud of the triangle divides each median in the

ratio of 2 : ﬁ'{{ﬁl TP AfAST B 2:1 S
mﬂﬁmﬁam%l
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Q. 22) A solid cone with curved surface area twice its
base area has slant height of 6V3 cm. Its height is:

waﬁwgﬁwmw ATFA IS YR ATPd A
aNTET 8, B e SaTE 613 cm 813U HATE F1d B

a 6\/5' _
Coser ] 0 o

(d) 3V6 cm
Je

=\ CM™M L~ G.rs
~ L J'
Tsa= Nvl+NY = fer>-(m*
% [e€-13

3/3
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Cubold S0M

Q. 23) Find the total surface area (in cm?) of a cuboid

having dimensions 5 cm, 7cm and 11 cm.

5 cm, 7 cm 3MX 11 cmﬁmaﬂaﬁwmmgﬁrqﬂu

TR ~ &(Lb+ohirhL) m(cmﬁ)mﬁho <o

e

R 3s+17 +55)

AX |6eF

» B33 AR

—

l

(a) 385 & 3

(b)334
(JELE ﬂ

(d) 167’
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Q. 24) Study the given pie-chart carefully and answer the
following question.

What is the difference between the funds (in Rs.)
acquired by the school from donation and those from

é_r;emment encnes?

mwﬁqa‘aamma?rﬁqaﬁ?ﬁaﬁ@a
Y BT I S
?mﬁaﬁammmqﬁﬁrﬂﬁmﬂ
) 8?
Waﬁﬁf‘waﬁﬁfﬁaﬁmwwwms@%

(b) 250000
(d) 240000
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Q. 25) Study the given bar graph carefully and answer
the following question.

The demand of company P is what percentage of the
demand of company Q?

fle MU dT INE FT WEGES HWIT IW IR
Fafafeaa uy &1 I 4| Fu-t p Bt |71 Hu-T Q B
a1 1 fba=n ufawra 22
(a) 68%
(b) 65%

e C %

P




